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Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and
presentations. Which principle of learning is he/she following? / Udh ﬁT&‘Iﬂ’T@'H)f

%1 TP ATy ygTar & SfiR SUY e it uy 3R Uil & 1y 34 & fore
wedl ¢ | Fufafa Q98 59 Rigid o1 SR s w12

1. Transfer of learning / WWW

2. Help in reconstruction /g,:rﬁ‘rquﬁﬂa‘c:

3. Active participation /Wﬂgm

4. Learning as a social activity / THIS® T & =0 H HRH

Correct Answer :-

« Active participation /W%“—I”ilal

2) What is the most important thing a child should learn from his failures in

school performance /Wﬁﬁﬁ@l’lﬂ'ﬂ%‘ﬂ?ﬁﬁ 3T 3B adra I
I Ygdyqul 91 1 HiE-1 a1ge?

1. To approach challengers with multiple perspectives. /ﬁ?@ﬁvﬁ@r‘fﬁ?ﬁéﬁ
qrell o FHIY S|

2. To change their subjects. / 30+ fawl &l gea|
3. To work on time Management skills. /Wﬂa‘%ﬂm IR D[H DA

4, To memorize the one right way of achieving success. / JHhddl UM & T8l dRIdpT B
Yie XTI

Correct Answer :-
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« To approach challengers with multiple perspectives. /ﬁ%’@?ﬁ“ﬁ@ﬂ:ﬁ?ﬁaﬁ
qrell o HIY ST

3) Who measured personality based on the two dimensions- extroversion and

introversion? / fhI Safdae & 3THa+ ﬁanar 3R 3fidie 3l 3T IR
Freifea fean

1. Cattells/ e

2. Eysenck/\?ﬂg@?
3. Freud/ PlS

4. Bandura/ SGT

Correct Answer :-

. Eysenck/@ﬂgﬁ_cb_

4) can be used to conduct both formative and summative

assessment. / BT TR fFafond® 3R RS ihad 'Q;Fﬁ
@1 B & fore fopar s AT g

1. Homework / W

2. Evaluation of teacher effectiveness / fRI&fe GHTIRIeTdT 1 H™ih
3. Portfolios / TIC Il
4. Self-assessment of students / BT BT T-STH AT

Correct Answer :-

. Portfolios / TCWhIferal

5) has developed a sociocultural approach to cognitive development. /
A IIAETHS Ao & g T aeRea et faeha
fear g

1. Lev Vygotsky / INCEIRNIRIED]

2. Brik Erikson / TR X [HT
3. Jean Piaget/GﬂqW
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4. Jerome Bruner / SIRIH §-1%

Correct Answer :-

[al

. Lev Vygotsky / fora arsiicaen!

6) Children can be fully toilet-trained by the age of : /a?ﬂ’rﬁ 3|

AT TP T TR A Werag-uiifard fear st aepar |
1. One year / Wﬁ'ﬁf

2. Two years / aray

3. Three years / GIBEL

4, Four years /awa'sf

Correct Answer :-

« Three years / RIG| aﬁ

7) What type of theory of development does Erikson propose? /Qﬁ?\‘ﬁ' A foa

UHR & faer & Rigia o ufauriea fear?
1. Cognitive theory / TRIFTHS Rigid
2. Learning theory / 3{{9RTH Rigid

3. Psychosexual theory / TR Rigid

4. Psychosocial theory / SIS Rigid

Correct Answer :-

. Psychosocial theory / HAIMHIRS Rrgid

8) What is meant by Classical Conditioning? / ARAT S ECSE] (ﬁTﬁlﬁ'
Iy DT HASd HT 82

1. A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / Uch d'\}I\YHI, Uh mﬁm@amﬁﬁ &HdT UTtd
HT € off go U J TH 3R IAoHT gRT Mfed Bt 7S giehl g

2. A stimulus loses the capacity to evoke a response which was originally evoked by

another stimulus. / T IoeHT, T UfdfehaT T UdTed R &1 &Hal |l 3ol ©
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S g 0 ¥ T 3R oAl gRT Uidligd &1 718 gldl 8 |

3. A voluntary response is lost due to a negatively reinforcing stimulus. / ThIRIHD

F Y Holgd - aTel ST & HRUT Wiwsd Tffhar @l o €|

4. A voluntary response is followed by a reinforcing stimulus. / Uch Wiese ufaferar
& 971G UH Holgd SoHT el 8|

Correct Answer :-

« A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / T J<IoiT, T UidichdT B! UicdTed B ol &Hal UTd
FHT & off go U I Th 3R IAoHT gRI Nifed Bt 7S gial gl

9) What memory is used to remember how to make a paper plane? / TR W

M & TP o1 16 31 & fore forg Wi &1 Iua fear smar g2
1. Echoic memory / Wfdeaf=d Sfd

2. Iconic memory / 3THddd WHfd

3. Semantic memory / a1 id

4. Procedural memory / UfshaTcTen Sfd

Correct Answer :-

. Procedural memory / UishaTcH® F{F\'T

10) What is the term used to describe the person that a child observes and

possibly imitates in observational learning? / 3 fed F1 AR FHA & fom
5 Treg &1 URINT o e @ fore = veofiy siftnma & wfda sar g
HHTd: SUD] Thd SARAT 82

1. Adult / dYIh

2. Model / GTed

3. Prototype / PICIEED]
4. Teacher / TR7&/6

Correct Answer :-

. Model / HISq
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11) ‘What could be the best way for a teacher to motivate children in the early-
adolescent years to go improve academic performance and develop interest in

school? / T 18/ & T I ot 3919 Y3l fr=iRmawi o Afée
&= H JUR H3+ 3R faenea o S fawRa o3 & R ia s &1
AT DT TRIPT T 8 TPpelT 82

1. Increase peer pressure and competition / TEgUI3! T GaTd 3R ufawgyf 3t dglhR

2. Induce fear of tests, scores and failure through learned helplessness / 3feT

GBI &b HIHH I UI&UT, 3ipi 3R BT b S Dbl HH Db

3. improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 3{fRTH HTIT TR UhTUdI
eI PR 3R Ih! Sl gHarsl H THRIY TSTHR idRe IRUT |
JUR hY

4. Provide rewards and incentives / YR¥PR 3R UIHTE Gy

Correct Answer :-

« improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 3TERTH GRS UhTUd]
I RId B IR D! il el 7 TAIYR IgTh 3Hidfes IRum #
JUR hY

12) Extreme deficits in social understanding is common in what childhood
disorder? /

TS A H iy HHl, ITearawiT & 5 faer & = g2
1. Dyslexia / TSR

2. Dyscalculia / fS¥baagferan

3. ADHD / TSITIS! (THTE Uq Hfaufshad fierR)

4. Autism / ST ) STHTTHIG(

Correct Answer :-

. Autism / 3T )STHIHIG(

13) Humanistic theory of personality is proposed by: / FfaI BT AHGATATS!
Rria g1 gRT UwaTfad fear mar or:

1. Abraham Maslow / 3STeH HTEA!
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2. Carl Rogers / T oI
3. Pavlov / UTdqlld
4. Carl Jung / EA| g

Correct Answer :-

. Abraham Maslow / SIS H AT

14) Schooling is an important requirement for children when they are

administered this test. / STd S &1 g URI&0T {31 ST a9 D THIeiT
BT U HEgdqul SRSl §:

1. Verbal intelligence test / H1f3ep Sifegepdl USteqr
2. Personality test / S faddd TREOT

3. Culture-fair test / PHeeR-BIR GRI&fu

4. Performance intelligence test / PERIE] @@ TR1&

Correct Answer :-

« Verbal intelligence test / A Sifgamar adiefor

15) Changes that are not due to learning can be attributed to: / uf¥ad it

3T & PRI TET 8, I T (¢ TR SgraT o Hehell 8
1. Maturation / GO

2. Skills / W

3. Social influence / FTHTSTS GHTT

4. Cultural influence/ ﬂ]@ﬁﬂ; UYHId

Correct Answer :-

« Maturation / TR Ul

16) The term Familial factors refers to influence of ./ UTRAT® HPRB

BI & YYUTT DI HelHd HIar gl
1. family members / qIRATR® 9o
2. school environment on learner/ TRT&T ff R faeTaa & Iﬂa?[
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3. facial expressions/ %E% 3’7 Hidg
4, friend/ T8

Correct Answer :-

« family members / qiRaTR® Jaw

17) The role of heredity starts in an individual’s life at the time of ./

%ﬂﬁﬂﬁﬁ@ﬁ,ﬁﬂﬁﬂ%%ﬁﬂﬁqﬁ & T9T A Y gt
|

1. Going to school / CEISESIES
2. Maturity / TRyl

3. Conception / TR

4, Birth / oIH

Correct Answer :-

« Conception / TR

18) A hearing loss between the range of 41 to 60 decibels is known as

hearing impairment. / 41 3 so%%maﬁm%ﬁaﬁﬁmﬁaﬁuqﬁ
YqUT SV P =Y H ST ST B

1. Moderate / H&EH

2. Profound / 1Tg -1
3. Mild / 9T&g
4, Severe / GIES

Correct Answer :-

« Moderate / H¥IH

19) Law of Effect was introduced by ./ 9MTd &1 g & gRT
PESGREIRIL R

1. Thorndike / ﬂl“i@lsaﬁ
2. Skinner / R
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3. Kohler / W
4, Pavlov / qrgard

Correct Answer :-

« Thorndike / ﬂl‘“‘i@l%@

20) In inclusive pedagogy, computer is used ./ TR RI&oRmRd ¥,
HE BT STANT fFarSmar g1

1. To motivate the learner / TRI&fT fRINTFRA S ﬁfQ
2. To provide feedback / AfTehaT TG R & forg

3. All of these / STGT THt
4. To interact with the learner / FRI&M & TTY STT=hd B & %I'Q

Correct Answer :-

. All of these / ST T+

21) Which of the following is not associated with chunking? / Frafafea & |
S A b7 H Has T8 82

1. Meaning / 3

2. Miller / fAeR

3. Grouping of seven / HId [ HHg

4. Long term memory / CEAINED F{ﬁf

Correct Answer :-

. Long term memory / LEAINED Fﬁ[ﬁf

22) Which of the following is not a product of learning? / fFrgfaRad A B
SFTH BT TP uRomH =51 52

1. Knowledge / faem

2. Physical structure / Hifcres T
3. Skill / DIRIA
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4, Maturation / URUedr

Correct Answer :-

. Maturation / URUHdl

23) Which of the following development stages is part of Kohlberg’s theory of

moral development? / Fafafaad @ s oo™ UL, Pl &b CIGED
faor & Risia o1 fewa g2

1. Punishment and obedience orientation/ ST 3R SMIRITEHTRGT d‘ﬂ{qnlohwl

2. Interpsychological/ SCXHTSDIANID
3. Sensorimotor/ YERIAICY
4. Young adolescent/ gdTl [HRIR

Correct Answer :-

. Punishment and obedience orientation/ ToTl 3R SRR ddj{q(\IOhQUl

24) 'Which one of the following is not a process of memory? / Fafafaad 9

Bt g @) 3 we e S 2

1. Retention / STdYTRUT ( |§é'3|:|)

2. Re-planning /Q:f:i'\'lq\l\fl*'l (P\’-Lﬂlﬁ‘ )

3. Recall / TRUOT (RPpIa)

4, Learning / ST (F‘I'EF'D

Correct Answer :-

. Re-planning / G:FFe (-t

25) Which type of parenting is characterized by emotional detachment? / foa
UPR BT UTAH-GIY0], UGS ST P [AeT&ordr 52

1. Uninvolved parenting / 31dlg UTe JIYo]

2. Authoritative parenting / STIBTRS UTA--UIT0T
3. Dual worker parenting / GIe<1 4He UTeTH-GIy0r
4. Single parenting / Tl UTA--UIUT
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Correct Answer :-

. Uninvolved parenting / 3{Hdg T gy

26) To improve class discipline, the teacher has to: / &[T H SR Pl dga
o & e, Rigre ot

1. Call parent teacher meeting to discuss the situation. / R & ﬁTQ
3N HTTD- R8P 6P B T AU

2. Note specific instructions of class rules in the diary. / SR | wa Fadl &
G D1 fafre = 9 e H1 =1l

3. Evaluate his/her methods and approaches and material./ 3Tt Al g —ir@'d%UT
3R ATt T Yedieh AT ey

4. Consult the class and agree upon a series of punishment./ &l IR ST
3R &S &I TP §TAT IR Ygqd g1 gy

Correct Answer :-

« Evaluate his/her methods and approaches and material./ 3o faferat 9 2 ffaiur
3R AT &7 e e BT Al |

27) CANCELLED

Which of the following situations show aptitude for verbal comprehension? /

Frafafaa & | «14 Id uffufear, e aus & fore siftgfn gl 82
1. Writing a poetry. / Teh Shiddl el

. Listening and reacting to a friend’s problem. / Tob il T &1 TH=T &I g1 3R
fciforar ¢l

3. Acting in a school play. / T [a=ITerd! e H ST H=1
4, Giving a speech in class. /$&ﬂﬁ HTHOT ST

Correct Answer :-

. Listening and reacting to a friend’s problem. /Wﬁﬁﬁ O] &I vkl 3R
PlsiERICSI

28) CANCELLED
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Which of the following points is not consistent with John Dewey’s approach? /

frafafad d @ Si-a1 fig S g3 & e & gy T8 82
1. Child is an active learner not a passive observer. / = U Iiepa SiferTHemal %
S T S Uere -8l g

2. Human beings learn through a 'hands-on' approach. / HJ™ ‘%@—CH:IJ:[ > ERBIY
SITH PR B |

3. Learning should be relevant and practical, not just passive and theoretical. /

3T, Ui 3R ATagING BT a1y, 7 fob had Afspa ik Agifdes |

4. The idea that one will be able to quickly recall the meaning of the material the

more one repeats u/ﬁ%rwa's'%ﬁﬁwﬁﬂquﬁﬁ Wm%ﬂ

39T 31 STed] T TS B GBI

Correct Answer :-

« The idea that one will be able to quickly recall the meaning of the material the

more one repeats 1t/ﬁﬂﬁa€%%ﬁmﬂm"}ﬁﬁ W‘@I@W%,

3T 31 Sec! T TS B GBI

29) A 5-year-old child can differentiate his mother from a dog. This is due to which of the
following cognitive processes? / 5 Ul oI d=T 39t /i &I U Qﬁ T 3 B Gbhdl
21 gz frufafee dgmrere ufesarel & @ fead srRur 82

1. Concept /SIdRUI
2. Attention / 3{d¥q

3. Sensation /Sd&T

4. Perception /EI}[‘EI

Correct Answer :-

+ Concept /3{dYURU

30) Bipolar disorder also used to be known as: / fg3[dl AR (ITgUIeR
fewTER) 31 9 A I +ff 1T wran 8:

1. Antisocial personality Syndrome/ MRS Hfkicd ﬁl@q
2. Messiah Disease/ THIGT I
3. Manic-depression/ e[ 3{ddlq
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4, Munchausen syndrome/ I ﬁl@jﬂ

Correct Answer :-

. Manic-depression/ TTgRT dHIg

Topic:- General Hindi (L1GH)

1) TETEY I B T YHW S 8 TR TR AR TW@1HTE 3 81 <riafi, afvesndt oik vefa & ur
I1d g &1 3 TRY HIS & & HeTYSul & ATH & — ST UTSTier U7 3% b °T g uTl IR JHTST 31 &1
WETYSH! P TS1 Ul I TG BT g1 TR AN HETerd’ § F4 99 Y, 39S aR TP Sl y=iferd 31 $al
T @ o SORY e uge TRY A & gee i iR fewa 3 Sk ggr wifeal 7 3eR-SWR yewd e
el @H-1H ST "YU Fre Sirar, 981 36 Sd | 19 WIS & Hio-Ts gl dl 7T R &t @i § e
USd | Ig WHIEGIRT ST Hd a derdl I6T 51V, O Hel-Ae! A8] Bl off Ahall WIS oI aar §

Yo & tfafvad TR a1 &1 fauw Higw SR Sirell SiraR) &1 WY JMHAT HA1 usdr ATl 59 SRT TRY
WRT 95 W gid A1 It fe=Y TRY Ture # 1 ur S iR G ur ¥ Ut T o g ATl 3 Y
HETTHUT A 37 S &1 WG] B ST 3R [ | I 3 MRY &Rl & 39 fauw uRfRufaay &
oo 8l 3 WM W A SI1H &1 B fear

ST TR P UG e IR T U $T IwX qa1s|
W TR SIS & IqHTG S o1 fa=ivar g2

1. B uRyH

2. Had iy

3. $Had UPpfa Ut

4, SRIad gt

Correct Answer :-

. SWRIGd gt

2) T 59 DI TP YA eI ¢ TR TR AT TIHTE | g1 2riai, aivsndt ik yefa o ur &
A B1a 8 1 591 TRY JHIS & G HETYSu! & A1 & — ST Ursifer uT 3R g ur g7 uT1 IRY JHIet 3 §1
TETTHU! B TS1 U | TS HRaT &1 MR AR “Hererd’ W $A 99 M, 9P IR W TP Her yafed g1 wal
e @ fF 391 WTe Ugd TRY @ & gde oA 3R fossa @1 SiiR g wifedl # 3eR-3WR Hedhd I5d A1
el WA-U1R ST e Bt S, 981 T STd | 99 YIS &1 Sis-Ts gl df ¢ Rl @1 @il § Ao
USd | I8 WHIEGIRT Sad &9 a& gadl 381 81, $© AeI-Te! T8l Hel oI Jhdr1l Wi & aarr &

Y & Sifafad TR @t &) fawy faw iR STl SaR) &1 W AT A1 ST ATl 39 SR AR
N1 95 IR gid A1 I e TIRY wuret § < ur ST iR G ur g Ut BT o1 g ATl 3 o
WETTSE! 7 37 AR Ft u=mf=a) HY 3@ 3R Jueg| 41 A MR 7@l @) 39 fauw ufefRufoat @
fFreTaes 8l 3 WM R A WH &1 e fFan|

ST TR B UgHR 1Y TR T YA FT IR AT
WA TSGR BT T ST § 2

1, gd Fart

2. TR

3. {[d}
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4. STgad

Correct Answer :-

3) AT T Dt TH TG S-ollid 8 MR TR AT arHTd & 81 wriaft, ufesndt ik uefa &) wR @
Il B &1 3 TR AT F S HETYSE! & ATH § — O UTSter Ut iR P T g uT1 MR [HIST 3 &
WETYEY! P TSI Ul I TG HRT g1 TR AN HeTed’ § F4 99 Y, 9P a1 | TP v y=ierd g1 Hal
STaT 8 {5 g9RI e Ugd TRY @ & gde i 3iR fossa @1 8iiR g wifeal | 3eR-3R Hedhd Igd 1
el WA-U11 T Qe B ST, 981 ¥ S1d | 99 YIS &1 SioT8 gidl df ¢ R @1 Wil & fAea
USd| U8 WHIGGIN Sitaq $d qep Tardl TT 81T, PO Hel-Hg! To1 el of Ypdll HISH $I aarsr §

Y & Sfaiad TR @ @) fauw Sy SR Sirelt SHaR) @1 W AT S ST 3T $9 SR AR
T agd WA gid A1 381 o TRY Tarer & 1 ot S Sfv G ot g Ut %7 5A g3 unl 39 &t
TETTHEL ¥ U A 1 TR~ B S SR [ I A IRY ARl Bt 3 fauw uffRufaay &
FraTaey F8l o RIM R d 9H &1 e fFan

STYH T P TG} 2 I Y =T T Sw¥ qa5y|
;U eg T yAfAaTt qeg g1 2

1. AR

2. HHOIR

3. 3fTerdt

4, gt

Correct Answer :-

4) Uy I5T P Th Y ST © TRY | TRY G W&THTE 9§ & =iaivm, aieedt ok uefa &t wR s
I1d g1d &1 39 TRY TGS & S HeTYSul & ATH g — ST UTsiferd T 3% gob ut gRY uT1 TR |are 341 &
TETIEH! P TSI HeFT I TG HRT g1 TR AN ‘AETed’ § $4 99 MY, 39S I B TP HgMl vaferd 31 HaT
STaT ® 5 e9RI WTe Ugd RY @ & gde 9 SR fssa 1 8k YR wifeal ® 3eR-3R Hewhd 5 Al
Wl @H-UA BT I e S1d, 981 TP STd | 919 YIS &) SIS gidl df 98 RIF] $t @i § fAed
USd | U8 WHIEGI Siidd &4 a% gadT 38T 81T, $© AE1-TE! 81 He1 o Jhdrl Wi I aarr &

Yo P ffafvad TR @il & fauw Higy SR Sl SaR) &1 WY GTHET $31 uSdT U1 39 SR IARI
T 9gd W 8ld A1 381 o TTRY Tarer & &7 °7 ST SR G u1 g7 Ut &7 57 g Ut 3 &
TETYSYI = U GRSt ge=mi=al Y a1 iR Juegi| il = TRI &Rl &) 39 fauy ufefRufoat 9
Froraet $8l 3 WM IR & §F &1 e fHar

IRT TR B UGH A1 I T U= HT Ik qarsy|
T TR TS ?

1, TP Urel

2. T Sl

3. U TR

4, TH I

Correct Answer :-
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5) AU 5T B TP YA STeIlfa 8 TR TRE AT WIHTE o g1 riafm, okl ok yefa o ur a3
I1d i &1 34 TRY AT & & HeTYul & ATH & — ST UTSTier Ut 3R b °T gy uTl TR} ST 31 &1
HETTHU! B TST U | TS HRT 21 TR AR “Hererd’ H $A 99 M, 39 IR W TP S yaferd g1 Hal
ST § % g9RI e Ugd TRY 9T & gde 919 SR forssa @9t ofik ggr a1fedl §f SeR-3eUR Yewd ed
Sl @WH-UA BT J1Y= e S, 981 P STd | 919 YIS &) SIS gidl df 98 R $f @i A fAea
US| 98 WHTEGINT SitaT $d ad gadl 8T oI, $© Agl-Ta! T81 Bel o APhdll YIS &t aart §

Y F Afaiad TR @l o1 vy W iR Sl STaR) BT Ot TRET ST USeT ATl 39 $R TR
T agd WA 8id A1 381 fail TTRY warey & 51 u7 S SfiR G u1 g ur &7 57 g AUt 3 &
HGTTSL A U I 1 WG] B ST 3R [HgAm | I A R @Rl @t 3w fauw uffRufaay &
FroTae F8l o WM R A IH &1 S faan

IUY T TR P UG -1 U Y U= &I Ik qarsy|
= faww %1 fae reg ghm 2

1. 91

2. 59

3.YH

4, SR gt

Correct Answer :-

6) MUY 59 FI TP YU SISl ¢ TRT| TRT a7 TWTHTE | g1 2riai, aivendt ik yefa & uR A
a1 B &1 330 TRY TUTS & S HeTY sl & A1 & — ST uTSifer uT 3R g ur g7 uTl IRy AT 39 )
TETIEY! P T8I YT I TS BT 21 TR AN "HETerd’ § $4 99 MY, 9P aR B TP HeMl uaferd 31 Hal
STaT @ fF g9RI e Ugd TRY @ @ Yot i 3iR fossa @1 8iiR Y wifedl # 3eR-3IWR Hedhd I8d 1
el WH-11 T g1y At S, 981 ¥ S1d | 99 YIS ©1 Sl gl df 78 R &1 Wil § Ao
USd | I8 WHIEGIRT Sad &9 a% gadl Y81 81, $© Tel-Te! T8l Fel o Jhdrl Wi Y aarr &

Yo P SAfafiad TR A1 & faud A9H SR STl SHaR] o1 WY GTHAT $IA71 UsSdT ATl $9 SR IARI
ART 95 TR gid A1 35 fa TRY Turer F W ur ST iR G ur g Ut T o= g ATl 3 o
TETISE! 7 3 AN FY Gl B 3@ 8N I | ST A TR 7l @) 39 fauw ufifRufoat @
FrpTa®: ol 3 I WR & 919 &1 by fearl

ST TR B UGHR -1 U T U= BT Ik Iaq13¢
W= e e & qre | 2

1, gfded H |

2. 3E HTHGH

3. %A HIH

4. fasmm 1 A

Correct Answer :-

. Ufdea AaH
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7) NI 59 $1 T TG TSI & TR TR AT WIHTE A 81 <riair, aikendt ok vefa & ur a3
aTd B &1 30 TRY HTS & S HETqw ! & A § — ST UreiferT Ut iR g Ut g uT | TRY WHe 59 QY
ARG S! B! TSI 4Gl A YTE BT g1 TRI AN AUrerd’ # & 99 ¢, 9P 9% Th P wHferd 81 Hagl
STaT @ foF T9RY e Ugd TR @ & gde 9 SR fassa 1 SR YR anfedl # 3ER-3ER Hewhd Ed
el WH-U11 ST 1y fBre SiaT, 981 ¥ Id | 99 YIS 61 SisTS gidt df 78 R @1 Wil § fAed
USd | I8 WHIEGIRT Sia- &d a% gadl 38T 8N, $© AeI-TE! 781 Hel & Jhdr| Wi ) aart &
Yep & Sifafvad TR AN P faww Hiaw iR SiTelt siraRt 1 W AT ST Usdr ATl 39 $ROT IR
N1 95 TR g A1 It fa TRY Ture § 1 ur S iR G ur g Ut T o g ATl 3
HRTTHUL A U9 S 1 W] B ST 3R [Hgm | I A MR &Rl &t 39 faww uffRufaay &
FrPTa®: Tl o I WR @ o1 &1 by fHarn

ST TR $ UGHR -1 IR T U= T Ik qarsel
= R’ § S W A g e

1. 0T HfY

2. Uiy

3. fawf @iy

4, < 9

Correct Answer :-

. TR

8) RUTEY Ied $! TP WHE S-oITia ¢ TR | TRY T T1HTa | & xriafv, ufvsndt 8k uefa & wuR s
ard B1d &1 30 TRY GUTST & S HeTg Ul & ATH & — ST UTSifer uT 3% g ut gRY Tl TRY A 39 &)
TETTEU BT TS1 YT X T1E HRaAT &1 TRT AT BUTerd’ T F I9 Y, 39S IR W TP He yafed g1 wal
a1 @ fF S9R1 e Ued TRY @ & Yo i 3R fossd @1 3R Yo wifeal # 3eR-3IWR Hedhd 8d 1
STel @M= ST e fret i, 981 3 9 | 19 WIS & Sio-Ts gidl al ¢ R 3t @ § fAed
USd | 98 WHEEGIY Sita $9 a& gadl I8T 81, O Aal-Tel Tl ®el off Gdbdll WIS &t qarr §
Yoo & Sifafvad TR A & faww Hig| 3i7 SiTelt siraRt &1 WY GrH=1 ST Usdr ATl 59 SR IR
WRT 95 W= gid A1 Iwet fa TRY Ture § 1 ut ST iR G ur g uT BT o= g ATl 3 o
WETTEE! 7 37 AN Ft wR=AE) B 3@ 3R [ N1 3 TRY |l @) 39 fauy ufefRufoat @
FreTaes 81 3 WM W & SH &1 e fFan|

ITYE TR $ USHR -4 YD T U= T Ik Tarsel

TR: U T § IIRT AR BT § 6 a9?7 39 o | vafia g 2
1. AlcH

2. TNId

3. oM

4, i

Correct Answer :-

9) NI I B} TP YI TSI & TR TRY AT TWIHTE A 81 2riaftr, afisndt ok wefa & R &3
ara g1 &1 3 TRY TS & &1 HETYSul & ATH & — ST UTSiferd T iR gob ut gRY uTl TRY |aTs 391 &F
TGS B TST 4G T TIS PR g1 TR AN “HeTerd’ H $A 99 M, 39 IR W TP S yafed g1 Bl
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STaT @ o e9RY WTe Ugd TRY @ % gdet A SR fssa 1 SR YR wifeal ® 3eR-3R Hedhd Ed Al
el WH-U1R ST e e S, 981 ¥ Sd | §1d HISH @1 BT gidt af T8 Rl &1 @il § fAed
USd| 98 WHIEGINT Sita d a® dadl ¥8T oI, $O Hel-Ta! Tg1 Bel ol APhdll YIS Bt aarst &
Yo F fafvaa TRY @ B faue Wi SR Sirelt saRt 1 Wt AT SR USdr ATl §9 SR AR
T agd W 8id A1 381 R TRY Ty & 51 u7 S ok G u g ot w1 S gem Ui 3 &
HGTTHL A U S 1 W=l B S 3R [Hgm | I A IR ARl Bt 3w faww ufifRufaay &
FroTas? FE! o VI W & 9H &1 e fean

ST TR B UGHR +1d U T U= BT Ik qarsel

T: WIS 1 TaT & forg TRY Shifodl &1 for DT ST |1 $-71 ugdr 41 2
1, Had fqum Ay

2. Bad SiTa SIaR

3. fowm Am SR ShTelt STHeR gt

4. Y Y PIS Tt

Correct Answer :-

10) HETEY I B TP T SIS g TR TR AR T@IUTE & g1 i, ufvsndt ok yepfa @ ur
P 919 T € 1 S TR AT F ) WETYSHI & 19 § — ST UrSifer uT 3R b T g Ut IRY [H 39
3 HETGH) &l 95t 45T T F1e BT & 1 TR a7 e’ § 4 99 7Y, 39 IR | b Sl yafed gl
FgT 91T 2 fF g9l e ugd MRY @R & g i SR forswa a1 ik gy wifedl # geR-3WR Hedd Igd
Y| 8T WH-U19 BT J1eA e Sra1, 981 6 Sa | 51 HISH & S8 gidl al 7 RIT $t Wil § Foa
USd | I8 WHIEGIRT Sad &9 a& gadT Y81 81T, $© Ael-Te! T8l Hel o Jhdrl HiSH I aarr &

Yo P Sfafvad TRY @il & foud Fgd 3R Sl SaR] o1 Y ATHAT ST USdT AT 9 SR TRI
T agd WA gid A1 381 fa= TRY TSt & 57 ut S SfR G ot g Ut %7 5A g Tl 3 &t
WETISY! 7 37 AN FY we=nf=al B 3@ 3fR Jueg| 1 A TRY 7l @) 39 fauy ufefRufoat @
rpTa®: Pl 3 RITH W & 919 &1 by fearl

ST TR B TR F1 D T IR FT STR AT
UI: IS S HSTE 811 U TRI Hgl 9d o A ?

1, $d R R

2. R R R

3. WS H

4, TR TR

Correct Answer :-
. TCREATWR

11) VU I B TP THG SIS & TR TR AR TTHTE I S iafia, uiksnd ok vefa 1 ur
P 919 B € 1 31 TR THTS & ) WeTYSul & A1 & — I UrsTierT uT 3R g Tt gy uTl TIRY et 359
3! AETYEE! ) TS 4T N YIS Hal 81 TRY @R ‘Aared’ § ) 99 Y, 39P IR H Th Sl yied el
FET o1 & P BRI T Ugd TRY W & gder T 3R foewa 1 ok ggR wifeal # 3eR-3R Yedhd Ted
Y| Tl @H-9 &1 J1e= el S, 981 TP S| S HISH B SISATS glal al ¢ RIF! ot @iel § Fda
US| 98 WHIEGINT Sita- $d a® dadl 8T oI, $O Ael-Tal Tg1 Bel ol APhdll YIS Bt aarst &
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Yoo P Afafvad TR @ & faud FigH 3R STl STaR| o1 WY GTHET $37 usdr U7 39 SR IRI
WRT Igd W gid A1 S faT TRY TSt § S Ut Sifer iR G ur g Ut T o g ATl 3 oY
WETYSE! 7 3 | Ft wR=ni=al &Y 3@ iR I | Sl 3 TRY |l @) 39 fauw ufefRufoat 9
fPrepTae? BEl 3 WM W & SH &1 b fear

Sufed TR B UGB F19 TR T U BT S« 15T

T TRI 99T & fawy gyt @t awn @ e feeae s 2
1. Bad S U7 Sifer

2. paa U g T

3. O O SAfer SR 1 O1 §ffT o1 gl

4, gl =

Correct Answer :-

o O U7 i SR GO g ur g

12) TUY IS0 &1 TP YA SIS g TRY | TRY ART TW@IHTE S 8 =i, gy ok uefa ot wr
P 9Td B & 1 3 TRY TS & &Y HETYSU! &b A1 & — T UTSfer Ut 3R Yeb Ut g U7 TRY AT 39
3 HRTS U ®I ISt 45T | TIG HaT & | TR a Aurad’ # 4 T3 Y, 39 IR | Uh Sl yafed 2|
FgT 97T 3 fp g9 91e ugd IRY @R & Ydet i SR fosaa ot 3k ggr anfeal # 3eR-3WR Uedhd Igd
q| et WM-MA T A1eA e oI, a8t T o | 56 Hie B HioATs gt af 98 ®F &1 @i § e
USd | I8 WHIEGIRT g &d d& gadl I8T BRI, $© Jel-Te! Tl wel &l Jhdrl Wi ) aarr &
yedd F fafvad TRY dFi &Y faws Wi 3iR Sirelt el &1 4t AT HRAT USdT 3Tl §9 SR IARY
AN 9 WM g A1 I8! &A1 TTRY Tret | o U7 S iR o1 ur g7 o 1 S g Ut 3 &t
TETTHEL A 37 AN 1 TR B ST 3R a3 TR @il &t 3w faww ufefRufoay &
frTae 81 3 WM R A W14 BT b fhanl

SUeRT TR BT UG = Y T YT P IR Iy |
U WU B T SISl @ ?

1. QYT

2. Hiom

3, TRI

4,78

Correct Answer :-

13) NUTY ST B TP TG SIS 8 TRY | TRY @R TrHTg A 8 =iiafia, gl oiv wefa o wr
PR 9T B 7 1 3 TTRY TS & &Y HGTYH Ul & A1 § — ST UTSifer uT 3R Yo ut g uT | TRY Fq|Tet 34
3 HRTGH I Bl ISt AT | F1e Ham & | TR A Aarere’ # $§ T Y, 396 IR | T Herl yafed 21
Pl 91T & foF SR 9Td Ugd MR @1 & Ydel 4 SR foasad 91 iR Ygr arfeal # 3eR-3WR Hedhd Igd
| STgT @H-WA &1 T1ee e Srd1, 961 3 a1 9id HioH &1 B8 glal at Ae R 3t Wil # fHea
USd | 98 WHEEGIN Sita- $9 a& Iadi I8T 81, O Aal-Tal el ®el off Gdhdll WIS ot qarr 6

Yo P SAfafvad TR &N & faud Fi9H 3R STt SaRt &1 WY GTAAT $37 usSdT 971 39 SR IRI
N1 9gd W gl A1 381 T TRY TSI & 1 U7 Sifer MR G T g Ut 7 S g Tl 39 &l
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HETTSUT 9 37 AT 1 WRIE) B ST 3R THgm | I 3 TR RNl &t 39 fauw ufifRufoay &
fFrPTa®: el 3 VI WR & W4 ST by fean

IR TR P UG -1 I T U= HT Ik Jarsy|

W= et Sfaat & gder i ofk forsaa Y R wifedt & yewd fra & 2
1. YT SIS o ST

2. G SIS o ARl

3, TR SIS & AN

4, TS SSIITc & ST

Correct Answer :-

o TRI S & AR

14) VETEY I B TP THG SIS & TR TR AR TGHTE | € 2hiafia, aivsnd ok vefa @ ur
P AT B & 1 3 TTRY JHIS & &Y HETYSUI & A1 & — ST UTSier uT 3R Jgeb Ut gRY uT| TRY AT 54
3! ARTYEE! ) TS 4T | IS Hal 8| TRY AR Aared’ § ) 99 Y, 39 IR § T Heml v 2l
Fe1 1A & 5 goRY uTa ugd MR AN & gde A iR fossa o ok g mifedt A 3ER-3R Hewhd Ted
Y| STl WH-UH &1 e fire S, 981 3 S| 519 WIS &1 Sfo-Ts gidl af 78 R 3t @il § e
USd | I% WHIEGIRT Sad &9 a& aad 35T BN, $© AG1-Tg! g1 Bel ol JbdTll Ui I aart §

Yo & Sifafvad TR AN & faww Hiw 3NR Sirelt siraRt B it ST ST usdr ot 59 SR IR
I 95d W 81 A1 I =1 TRY WS § o1 T SR 3R G ur g ur 7 o g3 AT 54 &)
TARTTHL A 3T N 1 W=l B ST 3R JHgm | A A TR @Rl ot 3 faww ufefRufoay &
Froraer $Ef o WM R & WH &1 e fHar

ST TR B UgHR T D T YR FT SR ST
T @G H S A1 9 | 2

1. TS T

2. g U

3. 9gdife garg

4, fgT 9u™

Correct Answer :-
. G5O

15) VT I B TP THH SIS 8 TR MR AR w@rdTa & 2 wiafia, uivsd ok vefa @ ur
P 9Td B & 1 3 TTRY T & Y HETYS I &b A1 & — ST UTSfer uT 3R geb Ut g Ut TRY AT 39
3 HRTH ®l ISt YT | FIG BT 8 | TR A e’ # 9 99 7Y, 39 9R | T Sl yafed 2|
Fe1 AT & 7% goRI UTa Ugd MRY AN & gde A SR fossa o oiik g wifedl A 3ER-3WR Uedhd Ted
Y| S8 WM-919 &1 919 A SraT, 98t ¥ S| 59 HIST ©1 $ieArs gl af 9 T #1 | # Fea
USd | 98 WHIEGIY Sila- 9 a& gadl I8l 8N, TS Vel-Hal el ®el off Hhdll HisH &f garr o

Yo & Sifafad TR d &) fauw diw iR Sl SiaRt @1 WY ST $A1 ST ATl $9 SR AR
T 9gd W gia A1 I o TRy vt A S ur Sifer SR G ur g ur 1 5 g Ui 3 61
TETTHE A 3T A 1 IRl Y S 3R g | G A IR @R &t 3w faww ufefRufoay &
fRrTae 81 3 WM R A WH &1 b fHan|
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SR TR F U -1 IR T U= FT IR qarsy|
U RUTA | E 2

1. Ub T oI [TH

2. T APN Tal

3. faqw

4. TP G BT AH

Correct Answer :-

o DY PTAMH

16) 3ATHT BT ATHT ATUDT
RS o1 fereaw iar

do18 UgTS,

Yool IR Ut g 71! Tmer-,
U 81 G8F WGl §

QTR & STl 1 SRS
AUPR gR gd A
ﬁmaaa%ﬂs‘r%nﬁml

3ME®- ST HiR|
oY fpalt 9 srmare -
G B

fererw offeft

3T IBT-

GRS Ll
SIRT BT T

ST U BT UgHR -1 TS A a1 U= HT I« Ia13¢|
WH: “JHTHTRr BT faaid 2Teg T GHM?

1. 3R[BR

RCIGI

3, TQm=I
4. IR I+

Correct Answer :-

17) 3{THT BT ATHT A1UBT
RS ot ferey Siaar
Io1 8 UETS,

gel W UST ¢ 74 T3,
U 8 Gg P W 8
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W%Wﬁwﬂa"r
JUPR g qd &
ﬁmaaa%ﬁs‘r%nﬁml

SMATS- Sl AR |

o et 9 smarer €i-

'ﬁ:‘%fﬁ'

Rrerw aneht

3T I31-

GIEEEl

SFERT BT AT

ST U ! UG +d U0 9 a1 U= $T S« aa13¢|
T=: UETS & - 95l g8 4! fhas aur few w6t 32
1. gl R UST e At

2. T

3, Tored @t ST 4t

4. VSl & gus 4l

Correct Answer :-

. Yol W USt areR At

18) 3ATHTR BT ATHT STUDT
IS Dt ferery Siaar
931 3 UgTS,

Yol R TSI § 7t Trer-t,
U §1 8P Y51 §

AT & ST P TS

SAYPR R yd o
ﬁmaéa%ﬂs‘r%nﬁm

SATD- Tidl HIX |

o forelt 3 sirarer di-
A B

e offeht

3T IBT-

ol gl
3ERT BT AT

ST U= B UgHR A YD S ard U BT Ik Ia154|
WRA: SATHTRI BT I for w0 | forar man g2

1. fram & T F Tu A

2. PO & TS F U o

3. PO ot Ot & T A

4. 379 Y PIS T
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Correct Answer :-

. PO FAH FFTUH

19) 3(THT BT ATHT TP
RS ot ey Sigar
d3T1 % TS,

Yol IR Ut § 7T areR-A,
TP /I

AT & ST 1 SFfiST
AUPR gR gd A

Rver 931 8 Yl & T

3RATH- Tl HIX |

o et 3 smarer €i-
G BT

farerw offeft

YaUT ST

ISl gl
SIYRT BT T

ST UL ) UgHR +d IR W a1 U= $T S« aa1s¢|
T: AP A S 9 3541 82

1. HIAA

2. 4R

3. @l

4, TR

Correct Answer :-

20) 3(THTR BT HIWT STDHT
IR Dt ferery Sigar
Jo1 8 UTTS,

gel IR TSI § T4 T3,
TS GeP W e

AT & STt 1 SRfiat
HUPR gr gd |

Rver do1 8 Yl & Ted-4T)

3MET®- Sl HIR|

o forelt = srmarer -
G B

forem sifeh

3T 3T-
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Rl gl
3RT BT T

ST UL 61 UgH I U S ard U= o1 I&iR 9a1g¢|
W= <R aifef ST e B 2

1, Farerd &1 g2 ST

2. ToIeT™ 1 St ST

3. Torere &1 g1 S

4, I &1 I ST

Correct Answer :-

. I &1 3¢ ST

21) 3(THTRN BT HIHT JTUDHT
Rl B Faraw Wiaar

9313 UTTS,

gel W TSI § 741 T3,
T 81 GEP Vel §
W%Wﬁwﬂa"r
JUPR g qd |
ﬁmaéa%ﬂs’r%nﬁm

3ME®- Sl HIR|

o forelt = srmare -
'wa’!

e siieh

3T I3T-

Rl el
3ORT BT T

ST U Bl UEHR +d UD 9 a1 U= $T S©- Ia13¢|
TR <GSl P I IoTH Giaar a9 § 3 Tes 87

1, Gl

2. diaH

3, I

4, IR gt

Correct Answer :-

22) 3ATHI BT HTPT STUD
IS ot ferey iaar
IO 8 UETS,
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el R ST 8 A1 IR,
T E G8P W 8
W%Wﬁwﬂ'&

wRu@d
ﬁmaéa%ﬂs’r%mml

3MET®- ST HIR|
o frelt 3 srrarer €i-

vwa‘l

fererw offeft

YT 3T

o gdl

SIERT ST

SUYTR UL Y UgH< A4 IS oI aTd U= $T SR Jarzel

U= TR & Ul IR R ara-ama ot fraat uifa weiia gl e &2
1. eI IR Xt e & JaH

2. 0SB 93t WS & wHH

3, ToreTH UR GarTall 31T & qHT=

4, Sl 33t & THH

Correct Answer :-

o STt STST o qHA

23) 3ATHT PT HIPT YD
IR B Faaw diaar
J3T1 % 0TS,

gl R U1 8 a AR,
U g1 GeP Vel &

QT & STl 1 SRSt
SHYPR g Yd
ﬁlﬂﬂé‘o’l%ﬂs‘r%mml

3ATD- AT HIR |

o forelt = srmarTe <i-
G B

e siieh

3T 33T

X gl
SR BT T[T

STYT U=IRI ) TP A1 U oM 9T TR 61 IR Ia13¢|
T: AR BT qafaardt WG 82

1. Had Hard!

2. Had AR
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3. HaAd hPp]
4, IWRIad Tt

Correct Answer :-

. SWIgd It

24) 3{THT PT AW STUBT
RS ot ferew iaar
J51 8 UTTS,

gel IR IS 3 74 FreR-4,
T EI TP @I

T & ST B SRS
SAYPR T qd o

Rer 93718 YS! & Tea-gTl

3EIT®- il HIR|

o fopelt 9 3rmarw -
L

oo offeh

3T IT-

NI3S gl
3ORT BT AT

ST UL ) UgHR 4 U SF a1e U= $T Sk ga13¢|
TR: < BT ugiaardt 7 8 2

1. giRar

2.9R

3. 9IR

4, T

Correct Answer :-

25) 3ATHT BT HIBT YD
RS Dt ferery Sigar
d51 § UgTS,

gel 1R USt § I areR-4,
TR GEP W e

AT & ST DI RT3t
AYPR T qd o

Rver 9371 8 Yl & Tea-gT

3ET®- Sl HIR|
o frelt = arrarer Ei-

'ﬁ:ﬁ 3‘-}.
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farerw offeft
3T IBT-

el el
SIERT BT T

ST UL ) UgHR -8 IR W a1 U= $T I« ga13T|
WH: 3T FAT B ST 82

1. T B T

2. IR

3. R maT®

4, 3T g

Correct Answer :-

. IETEE

26) 3ATHIR HT ATPT STUDH
ol B Faaw digar
J3T & UgTS,

gel W UST § 7a) I3,
T GeP W6

AT & ST P SIS
JUBR g qd &

Ryver o1 WSl & Tea-4TI
SATF- AT HR |

S fpddt A smarw di-
G B

farerw offeft

Y3iT 3ST-

R gl
3IERT BT T

SUYS U= ) UgHR A Y oI ard U= 61 IR Ia15¢|
T: 3BT BT TIadT Teg Tl 82

1. SR

2. Y

3, 3R

4, T4

Correct Answer :-

o IR
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SITHTRT BT ATHT YD
RS Dt ferers Siaar
d51 3 TS,

geHl 1R USt § I FreR-4,
THE @P @8

AT & ST DI SFTST
YR R gd #

River 961§ Vsl & Te-ar|

3E®- Sl HIR|

o Tt = armare &1
G B

forerw offeft

3T IB1-

36 gdT
SERT BT T

ST U= ) TP A Y M a1 TR BT IR Ja15a|
U ‘YA BT Uaigar e 8 2

1. Had fdhyge
2. Had TP

3. Had GRS
4, IRV gt

Correct Answer :-

. SWRIad It

28) 3ATHT P HTHT TUDB
IR ot ey Higar
931 § UgTS,

gel UR US} g A} IreR-H,
TR g GEP TN

TR & ST DI RT3t
AYPR T Yd o

Rmer do18 Vsl & oA

3MET®- Sl {7

o forelt = srmare -
G B

e o

34T IBT-

Il gl
SERT BT AT

SUYT UL B UgH< Ad IS FF a1d U= $T SR Jar3¢l
U= IR Ui & UeTS frue ave REg A wr ¥

1. A gU a1 @ve
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2. T¢ §U [ &1 kg
3. 9GS gU e &1 g
4. 96 gU fHPum 1l ke

Correct Answer :-

. S FIA B RE

29) 3ATHI BT HIWT YD
RS ot ey Sigar
d31 3 UETS,

geHl R UST § T8 Fre=-4,
T EP TIQ

TATY & ST D1 SRTST
AYPR T qd o

Ryver o1 Yl & Ted-ani

3ET®- ST "R

o fpelt 9 armarer <i-
G B

fererw offeft

¢ 3IT IB1-

X R
SORT BT T

ST UL B UgH 14 D SF a1e U= $T Ik ga15¢|

T TR Ui & Ui e & gaar g feae Wit Res 2 e
1. 3[FJBR B TRg

2. o TR gerTelt ST @t Hifd

3. UATRI & US Pl e

4, 3Tt & T

Correct Answer :-

. T IR gerTd et @t Hifd

30) SATHTRT BT ATHT FTUDT
ol Dt fere Siear
93T 8 UgTS,

goAl R UST & T TR,
TN P /I

QAT & STa BT SAST
AYPR T qd A

Rrver 931 8 Y & Tea-gT

3ME®- Sl HIR|
S it A amarer -
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G &
fererw offeft
3T 3T

X g
SERT BT T

ST UL B UgHR 14 D SIF a1d U= &1 Ik ga1g¢|
WR: Yd TS UR °AT SieT SR FT weltd g @1 82

1. S H It At @

2. I bt emT AT

3, Slerl Siiat 1

4, IRIed It

Correct Answer :-

. Fus H G Nei T

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

The different people that Nitara saw at the New Delhi railway station were from:

1. Indonesia

2. Australia

3. India and around the world
4. Switzerland

Correct Answer :-

« India and around the world
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2) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

Where were Nitara and her family travelling to?

1. Indonesia
2. New Delhi
3. Pakistan

4, Tamil Nadu

Correct Answer :-

« New Delhi

3) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

What does the word gleaming refer to in this passage?

1. A thought
2. The sights
3. The sounds

4. A clean polished surface
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Correct Answer :-

» The sights

4) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

What does the word ‘accessory’mean in this passage?
1. An excess of something

2. Tickets and clothes

3. Additions that make something more beautiful

4. A place where one can access something

Correct Answer :-

« Additions that make something more beautiful

5) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.
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The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

“untouched by humankind” signifies a:

1. Place where farming has not been done
2. Place where no man has ever gone

3. Forest

4, Barren land with no human beings

Correct Answer :-

« Place where no man has ever gone

6) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.
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Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

Livestock are animals that are found .

1. in the zoo

2. in any vehicle
3. on the road

4. on a farm

Correct Answer :-

e ona farm
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7) Read the poem carefully and answer the question given below:

Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

“On huge saline ..... blue gold”

These lines refer to which one of the following water bodies?
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1. Ponds
2. Lakes
3. Rivers

4, Oceans

Correct Answer :-

¢ QOceans

8) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four
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Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.
“On huge saline ..... blue gold”

These lines refer to which one of the following water bodies?

“which was created to tickle the sky”... is an example of:

1. Metaphor

2. Personification

3. Alliteration

4. Transferred epithet

Correct Answer :-

o Personification

9) Read the sentence carefully and choose the option that has an error in it:

Both Vijayan and Rajan are quite tall but Rajan is the tallest of the two.

1. the tallest of the two.
2. Both Vijayan and Rajan
3. but Rajan is

4, are quite tall

Correct Answer :-

« the tallest of the two.

10) Fill in the blank with the correct option in the given sentence:

What I did was --intentional; I never meant to hurt your sentiments.

1. de--
2. un--
3. a--

4, mis--

Correct Answer :-
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11) Choose the most appropriate determiner in the given sentence.
women are mending the roof.

1. This

2. They

3. Them

4, Those

Correct Answer :-

« Those

12) Fill in the blank with the most appropriate preposition in the given sentence.
The temperature has been______ zero all this week.

1. below

2. under

3. down

4. beneath

Correct Answer :-

« below

13) Choose appropriate articles for the given sentence:

From __ distance  columns looked like __ cluster of poles.
1. the, the, no article required

2. the, no article required, the

3. a, the, a

4. no article required, the, the

Correct Answer :-

o a,the,a

14) Choose the appropriate prepositions for the given sentence:
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An increasing number young people are trying to break free the traditional
types wedding.

1. from, at, on
2. to, in, for
3. 1in, at, of
4, of, from, of

Correct Answer :-
o of, from, of

15) Choose the appropriate pronouns in the given sentence:

Having been a teacher . knew the challenges of teaching slow learners too
well.

1. myself, she
2. yourself, she
3. herself, she
4, itself, she

Correct Answer :-

« herself, she

16) Fill in the blank with the correct option in the given sentence:
Teachers give their students tests and assessments

1. period-wise

2. period

3. periodic

4, periodically

Correct Answer :-

« periodically

17) Choose the right tag:

He eats an apple every day, ?
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1.isn't it

2. does he
3.doesn't he

4, hasn't he
Correct Answer :-

. doesn't he

18) Change the given statement to indirect speech.

“Oh, what a beautiful dress that is!” she said.

1. She told it is a beautiful dress.

2. She exclaimed that it was a very beautiful dress.
3. She said that it is a beautiful dress.

4, She said that it was a beautiful dress.

Correct Answer :-

« She exclaimed that it was a very beautiful dress.

19) Choose the appropriate antonym for the highlighted word in the given sentence.
Churchill was resolute in his opposition to fascism.

1. Contemplating

2. Fickle minded

3. Steadfast

4. Doubting

Correct Answer :-
« Fickle minded

20) Choose the appropriate conjunction for the given sentence:

you have a minimum of 320 score in GRE, you are unlikely to get a seat in American
universities.

1. Unless
2. However

3. Otherwise
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4, Untill

Correct Answer :-

e Unless

21) Choose the appropriate suffix in the given sentence.

The scene of crime was loath--.
1. --some

2. --full

3. --ing

4, --ly

Correct Answer :-

22) Choose the appropriate option that rewrites the given sentence in its active voice.

The letter was posted by Kishore.

1. Kishore posted the letter.

2. Kishore has posted the letter.

3. Kishore will have posted the letter.

4, Kishore would be posting the letter.

Correct Answer :-

« Kishore posted the letter.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Drunken driving many accidents.
1. was causing

2. cause

3. is causing

4. causes

Correct Answer :-

e Causes
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24) Choose the appropriate synonym for the highlighted word in the given sentence.
My friend speaks flawlessly with a Scottish lilt.

1. Language

2. Tongue

3. Pronunciation

4, Intonation

Correct Answer :-

¢ Intonation

25) Choose an appropriate modal for the given sentence:

The students, help each other in their learning.

1. ought to
2. would have
3. might have

4. may have

Correct Answer :-

26) Choose the option that substitutes the given phrase appropriately.

A mounted soldier in the cavalry

1. Loner
2. Trooper
3. Stalker

4, Trouper

Correct Answer :-

27) Choose the option that best explains the highlighted expression:
He was in doldrums after the quarrel he had with his brother.

1. in a dilemma
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2. in low spirit
3. felt frustrated

4. very happy

Correct Answer :-
o inlow spirit

28) Choose the option that best explains the highlighted expression:

‘Brevity is the soul of wit’ implies

1. Witty people are generally diminutive.

2. One can go on and on and still make sense.

3. Great intelligence is always associated with long speeches.
4. The essence of intelligence is to be brief in expression.

Correct Answer :-

» The essence of intelligence is to be brief in expression.

29) Choose the option that best combines the given sentences.
The poet sat in his tower. He gazed on the sea.

1. In the tower gazing on the sea sat the poet.
2. The poet sat in his tower gazed on the sea.
3. The poet sat in his tower and gazed on the sea.

4, Sitting in his tower gazing on the sea is the poet.

Correct Answer :-

« The poet sat in his tower and gazed on the sea.

30) Choose the option that best transforms the sentence into its Indirect form:

“Will I like it?” she wondered.

1. She had been wondering if she would like it.
2. She wondered if she will like it.

3. She wondered to herself if she would like it.

4, Wondering, she said if she was liking it

Page- 41



Correct Answer :-

« She wondered to herself if she would like it.

Topic:- Science (SCI)

1) A teacher demonstrates an experiment to verify Newton’s law in class. He
then asks students for simple examples that prove the same law. Which ability

is he trying to develop? / Ud fQT&‘IW DET A Y & ol &1 gorfug #1

P e v uaiT yeRRia $3a1 81 98 fbe o & Wd 3erevn & forw wgar
%Gﬁﬂﬂ;ﬁﬂﬁﬁﬁﬂﬁ?fﬁlwm&mﬁﬁmﬁmﬁaﬂaﬁﬁm
P G 82

1. Acceptation or rejection of the hypothesis / HRCI’J@«HI P %Olnlqvl?l g[ G—Ndnlqﬂ?l P

2. Flexible and divergent thinking / TR 3R fafye fefa= o
3. Express the task in terms of goals / A&l & T H &1 & oIad B B

4. Correlation between various phenomena / fafe UC"II&ﬁ % ClEE S%iﬁi & DI

Correct Answer :-

« Correlation between various phenomena / 9t gere & o9 Tgdey ot

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for
analogies and comparisons. What is its significance? /ﬁrl'\‘:l' WW—W AY BT
ST, SR 3R YUTT & fore s wirar 2, 3t ave ue fow-Au &
ST, rRudrel iR o & e fovar sirar 81 s9&1 Hed |1 82

1. Effective method in teaching science /ﬁ?ﬂqﬁm‘m H gy Rl
2. Creates a playful mood / @W@HWW%I

3. Improves quiz abilities/ TRI &mﬂT&ﬁﬁﬂWW%I

4. Improves comprehension power / Wﬁﬁmél

Correct Answer :-

. Effective method in teaching science / Tog= 101 § gyrat il

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the
direction of the magnetic field same, the current through the conductor is reversed. What do
you observe? /
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faeyq aTe® Gura® &) TS G gaaid &5 T " U | 7@ |6l § | gaaig &
gggﬁwm%@,w%mmﬁﬁmaﬂwﬁmw%lmw

1. The force acting on the conductor will be doubled. / JdTcih U ¥ XGT ol dl?!-’-ll RKIsIE
2. The force acting on the conductor becomes zero. / gdIclch UTFFTQ%TWQE_@W%I
3. The conductor will remain in the state of rest. / gdlcid TR ST T 3|

4, The direction of motion of the conductor will be reversed. /wﬁvﬁrﬁ a1 bl IaIe
e ST &1

Correct Answer :-

 The direction of motion of the conductor will be reversed. /Wﬁﬂﬁﬁ fa=M &l IaIe
RIS

4) What happens when two balloons rubbed with a woolen cloth are brought close to each
other? /

T BT € Od Gl IR U Sl HUS A WSH Tb g} P pRId oM ST g2

1. They repel each other./a W—@ﬁ WW%I

2. They attract each other. / d Th-GER P BT Hd & |

3. They stick together. /é@-@ﬁ%@%l

4, éhﬁe%neither repel nor attract each other. / Jag W—W 31 3R fawia gid % AR T RHECICALG
I

Correct Answer :-

« They repel each other./é@-ﬁﬁwm%l

5) What happens when a glass rod is rubbed with silk? /
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